Weak NT - 2C Relay

Selected: 16 / 451

West East Comments
Hand: 1 AJ10 K963 1H 2C
Dir: W AJ98 743 2H 28 2H = weak NT or 5-4 majors any strength
Vul: None 54 AK2 3C 3H 3C = weak NT; 3H = 3 hearts
K842 QJ9 3NT
13 13
Hand: 2 J5 A732 1H 2C
Dir: W AQJ2 K83 2H 28 28 = Fitor 19+
Vul: None 9743 K102 3C 3H
A63 K84 3NT
12 13
Hand: 3 J65 K82 1H 2C
Dir: W KJ74 AQ5 2H 28
Vul: None AJ10 Q3 3C 3H
K98 A10743 3NT
13 15
Hand: 4 K43 AJ92 1H 2C
Dir: W AJ109 85 2H 28
Vul: None J86 Q43 3C 3S 3S = 4 spades (not 3H)
Q109 AJ86 3NT
11 12
Hand: 5 AJ2 KQ85 1H 2C
Dir: W QJ52 K4 2H 28
Vul: None AJ KQ9 3C 3D 3D = Controls [CONFI]
6432 AKQ7 3S 4C (B3H=0-3/3S=4etc.)
13 22 6NT Not allowed to raise clubs on xxxx?
Hand: 6 J107 AQ 1H 2C
Dir: W 10875 A3 2H 2NT 2NT = no major, 15-18
Vul: None K932 AJ54 3NT
AK J8652
11 16
Hand: 7 K73 AJ10 1H 2C
Dir: W AK42 QJ9 2H 28
Vul: None K104 Q8762 3C 3H
975 KQ 3NT
13 15
Hand: 8 98 KQJ6 1H 2C
Dir: W Q10752 A3 2H 28
Vul: None K76 QJ1093 3C 3S
AQ2 106 3NT
11 13
Hand: 9 Jo4 AQ75 1H 2C
Dir: W AK762 QJ5 2H 28
Vul: None 82 A94 3C 3H
K98 1054 4H
11 13
Hand: 10 J2 Q98 1H 2C
Dir: W AQ94 75 2H 3NT 3NT = no fit, min (12-14), minors stopped
Vul: None KJ54 AQ8
J76 AQ1082
12 14
Hand: 11 Q108 A92 1H 2C
Dir: W K542 AQ8 2H 2NT
Vul: None 1098 K52 3NT
AK2 QJ108
12 16
Hand: 12 Q106 AK7 1H 2C
Dir: W AQJ95 32 2H 2NT
Vul: None 72 AKJ4 3NT
QJ10 K984
12 18
Hand: 13 106 AK 1H 2C
Dir: W KQ64 AJ8 2H 28 28 = Fitor 19+
Vul: None Q1097 A8652 3C 3D 3D = Controls [CONFI]
A73 K108 3H 4D 3H = 0-3; 4D = 4+ diamonds, 7+ controls
11 19 5D 6D 5D = 4 diamonds, 3 controls (else 4NT)
Hand: 14 AK7 J852 1H 2C
Dir: W J1043 KQ7 2H 2NT
Vul: None Q72 AK4 3NT
Q94 A102
12 17
Hand: 15 A65 Q7 1H 2C
Dir: W A432 KJ6 2H 28
Vul: None 962 K43 3C 3H
K94 A10532 3NT
11 13
Hand: 16 65 AK73 1H 2C
Dir: W K764 A82 2H 28
Vul: None AK3 976 3C 3S
J1075 AQ4 3NT
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Unbalanced - 2C Relay

Selected: 16 /235

West East Comments
Hand: 1 QJs K642 1H 2C
Dir: W AQ10832 75 2D 2H 2D = 11-15, not majors, not weak NT
Vul: None Q5 A1042 2NT 4H 2NT = 6+ hearts
43 AQ7
11 13
Hand: 2 AK106 Q9 1H 2C
Dir: W AKQ1043 J5 2H 3NT 2H = both majors (or weak NT); 3NT = no fit, min (12-14), minors stopped
Vul: None J8 KQ109 4C 4D 4C = shortage slam-try; 4D = Last Train
3 AQ762 5NT 6H
17 14
Hand: 3 AK9 Q762 1H 2C 5S [Good, 2 keys, no Q] - 6D
Dir: W AQ1085 J9 2D 2H
Vul: None J10873 AK95 28 2NT 28 = 4+ diamonds
A92 3C 3D 3C = short club
14 14 4C ANT 4C = 5-5-3-0; 4S = Deadwood diamonds (4D = End, 4H = D'wood hearts)
Hand: 4 Q4 AK102 1H 1S Not quite enough to force to game
Dir: W AQ1032 J4 2H 2NT 2H = hearts + clubs
Vul: None J10 Q963 3NT
A973 Q82
13 12
Hand: 5 1095 KQ2 1H 2C
Dir: W AKQ9764 J5 2D 2H
Vul: None A K862 2NT 3D 2NT = 6+ hearts; 3D = non-min with 2 hearts
54 AK93 4D 48 4D = denies black-suit control
13 16 6H
Hand: 6 AKQ J654 1H 2C
Dir: W KQJ42 A9 3C 3D 3C = max, short diamond [max because no 2D rebid]
Vul: None 4 J1095 3H 6H 3=5=1=4 [3C implies short minor; compare #3, 2nd suit is clubs (no 2S = diamonds)]
Q876 AK9 East knows EW have 28 HCP in 3 suits so are at worst miissing a queen. 11 tricks
17 12 missing either black queen, hope for black 10 and a finesse. KJxxx hearts - finesse.
Hand: 7 A742 KQ 1H 2C 4NT [No HQ] - Pass
Dir: W KJ9g2 1076 2H 28
Vul: None A52 KJ4 3D 3H 3D = Max, short club [one step higher than M/m - general rule, higher resps impl clubs)
A KQJ93 3S 3NT 3NT = hearts! CANNOT play 3NT after 2S opp. max and majors
16 15 4H 48 4H = Good + 4 keys (no ambiguity)
Hand: 8 J9o A43 1H 2C
Dir: W KQJ92 85 28 2NT 28 = Max, 4+ diamonds
Vul: None AK108 J7 3D 3NT 2=5=4=2
Q10 AK9632
16 12
Hand: 9 7 A1042 1H 2C 4-4-4-1s are trick; treating this particular pattern as weak NT is OK
Dir: W A1064 KQ9 2H 28
Vul: None AQ104 KJ86 3C 3H
Q1097 84 3NT
12 13
Hand: 10 K832 A9 1H 2C
Dir: W AK9632 J85 2H 28
Vul: None A K874 2NT 3C 2NT = Min, majors
102 A865 3NT 4D 4=6=1=2 [no 3D = short club, so short diamond]; 4D = End signal
14 12 4H
Hand: 11 K1076 A982 1H 2C
Dir: W AQ876 954 2H 28
Vul: None K A106 2NT 3C
963 AJ4 3S 4D 4D = End signal [BNT = H 4C = S - Hearts ALWAYS 1st - even after 1S opener]
12 13 4H 48
Hand: 12 AQJ8 1H 2C
Dir: W AK643 1092 2D 2H
Vul: None A9763 QJd2 28 2NT
1043 K62 4C 4D 0=5=5=3
11 13 4H
Hand: 13 A 10543 1H 1S
Dir: W AK10985 Q4 2C 2D 2C = 16+ or 6+ hearts 10-13; 2D = 8+ FG opp 16+
Vul: None J32 A106 2H 4H
J104 AQ62
13 12
Hand: 14 AQJ6 K972 1H 2C
Dir: W K10932 AQ 2H 28
Vul: None 43 K10 2NT 3C 2NT = Min, majors
A6 KQJ92 3D 3S 4=5=2=2 ; 3S = spades [ste-2]
14 18 48 6S 4S8 = good, 2 keys + SQ
Hand: 15 53 A104 1H 2C
Dir: W AQJ543 K8 2D 2H
Vul: None 95 AJ2 2NT 3D 3D = non-min, doubleton heart
A83 K10742 3H 4H 3H = useful minimum, not worth slam-try on own
11 15
Hand: 16 K 832 1H 2C
Dir: W AQJo92 K4 28 2NT
Vul: None AKQJ3 72 3NT 48 1=5=5=2; 4S = clubs [4C = H/ 4D = End / 4H = D]
92 AKQ874 5H 6C 5H = good, 2 keys
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Unbalanced - 2C Relay (1€ Selected: 16/ 155

West East Comments
Hand: 1 AKQJ72 943 1S 2C
Dir: N 97 AK54 2D 3S 3S = Min, balanced, 3-card raise
Vul: None 6 KQ 48
Q982 7543
12 12
Hand: 2 A9642 1083 1S 2C
Dir: N A65 KQ7 2D 3S 3S = Min, balanced, 3-card raise
Vul: None K AQJ82 48
K543 109
14 12
Hand: 3 KJ87652 A 1S 2C
Dir: N KJ7 964 2D 28 2S = long clubs, usually short major
Vul: None Q4 K108 3S 48
A KQJ542
14 13
Hand: 4 AJ753 Q64 1S 2C
Dir: N Q8 AKJ7 2D 2H East relays with potentially a good hand opposite diamond shortage
Vul: None A6 J42 3D 4D
J1082 K75 4H 48
12 14
Hand: 5 6432 AKQ 1D? Err, not sure how to bid this
Dir: N 9 104
Vul: None AQ82 KJ1095
AK94 758
13 13
Hand: 6 AQJ1087 43 1S 2C
Dir: N Q62 K87 2D 2H
Vul: None 2 A643 2NT 48 2NT = 6+ spades
K32 AJ87
12 12
Hand: 7 AKQ10974 65 1S 2C
Dir: N 876 AKQ5 2D 2H
Vul: None K QJ93 2NT 48 2NT = 6+ spades
76 J104
12 13
Hand: 8 76532 AK9 1S 2C
Dir: N QJs 96 2D 2H
Vul: None Q AK82 3C 3S 3C = short diamond; 3S = Nat plus that's bad new (with 3S)
AQJ2 10874 3NT
12 14
Hand: 9 KQg7 A64 1H 2C
Dir: N KQ73 A 2H 2NT 2H = treating as weak NT
Vul: None J962 K543 3NT
4 A9865
11 15
Hand: 10 AKQ1032 Jo7 1S 2C
Dir: N A102 Q85 2D 2H
Vul: None 9542 AK107 2NT 48 No ambition opposite any 6-3-3-1
K87
13 13
Hand: 11 A10652 Q3 1S 2C
Dir: N 92 J108 2D 2H
Vul: None A874 KQ 28 3C East anticipates problems opp. S+D
QJ AK10643 3H 3NT? 3H = 4th suit - West hasn't got a short hearts HQ perhaps
11 15
Hand: 12 A1086542 Q 1S INT
Dir: N Q102 43 2C 2D 2C = 16+ or 11-13 6+ spades
Vul: None Q5 A9763 28 3S
K AQ653 48
11 12
Hand: 13 K10932 AQ6 1S 2C
Dir: N 10 A832 2D 2H
Vul: None AQ72 K85 28 2NT
AQ7 K109 3H 3S 5=1=4=3; 3S = spades
15 16 4C 6S 4C = good, 3 keys
Hand: 14 QJ1075 K2 1S 2C
Dir: N K4 AQJ 10 2D 2H
Vul: None A K863 3C 3D
K10874 932 3NT 4D 5=2=1=5; 4D = End-signal etc.
13 13 4H 48
Hand: 15 J543 A8 1C 1S 1C best outside 11-13
Dir: N KJ107 A3 2H 3C 2H = 16+, a club short as well.; 3C = extras
Vul: None A J9654 3NT
AQ73 K1092
15 12
Hand: 16 A9753 1S 2C
Dir: N Q106 AJ8 2D 28 28 = long clubs, usually short major
Vul: None A1084 KQ76 2NT 3D Nat; Nat
K AQJ752 4D 4H Nat; control
13 17 48 6D Hard to get to 7 - could West raise




